EARAROBEEIERT — 2 N— IBISH —F

2019538200 (K) 18m=%15H

KM C3—-8 C3 #5%—# |l w | eEmEl - | ¢ ) a0 TR

[A~&£] 1 7% :200,000 W ~ 23%&:70,000  ~ 337 :40,000 W . 43:30,000H 5 3&:20,000 H

R:YIRG4 952 B:1—-2>TU—%

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R MG 1:24. 2-2-3- . - 44 B (FH)
11811 XELY wF # 3 S (_)9 3-3 | 39.9 3 (_63; /J\%;;%
LGy —3IYTL BEHCFIY BEBS
S # 3 | REEXR 1:24.9 3-32-1 [39.9 — | 1 | 503 |EH#FF (BH)
2(5/5 Hr—knO 56.0 (1) (+8) =HEg
RNAT =1 B:3TYaAT NG EE
o— e =, = Lk GIN 105, —1-1- . - MARER) (SH)
3l7lg| 7527151 b i o4 o 1(215>1 1-1-1-2 | 40.2 2 ;1_328) ém«%
R:TF2A708— B:V—-H—-by T2 Wi A
. LSS LHIFE : 77— — EEEE (B
4 71777 EY YR "4 5o 1'(256)'1 AR R ! 3558) AUEE
R/ RS vy B:Tr—FT43TvT 1£iE D
S = = > 5 | BAHH 1:26.2 5-5-4-4 | 40.4| — 8 458 | BRfE— (&)
5/7|9|Z7NVT1Z1+b - 56.0 (1/2) (-1q) | AAIEEE
R:Z7)—>kb—A0— B:YRKETELT> NSRS
5,9 4 5 | BEFRNFE 1:26.4 11-11-10-5 | 39.3 | — 5 | 511 |EEWLAE ()
6111 IAq //ZjU_L\ 56’_’0 (3/4) +2) (%) 77> 7

REHS

LA TATv— B XT4—hN=2

1| i 2 . _0-8- —
]3 47—k 6 @Sﬁz_oﬁ 1.(237).1 8-9-8-8 | 40.5 6

494 | BIFFRE (BH)
) |EBER
(B) #EI-FKL—-—Yar@aErr

9 4 7"77‘-_{ j‘/ﬂ)b K o 6 ﬁﬁ_ﬁéﬂﬂ 1:(258).5 6-6-6-9 |42.3| — | 10 g;s *:E%Ei (=H0)
ST ZANNVE BT IT4TTI b MEEESS
10 o | FLTEIO— - i 6 5@4*3%37 1(728t§s 4-4-5-10 | 42.6 | — 7 :1; ﬁﬁgi (=)
ST NATA—H— B:FLTROY— fREE  F093
1 6 C/%;j—fljx)P?-)b ‘ 6 gf%@% 1(:12/82.>7 10-10-11-11| 41.5 | — | 11 (4_633) %g%&%%m
R XA HFE = Bih KIL—IN ORI
@ 11— —@EBIRfL
1 Z=7r= 8,11,5,2,9,4,10,3,7,6,1
2a=7r= 8,11,5,2,9,4,7,10,3,6,1
Ja=zr= 8,5,11,9,2,4,7,3,10,1,6
43—F— 5,8,11,9,1,7,10,3,4,2,6
0 ILRE
BB 11 720 | | 71 K 5-11 120H 3 5-8 390MH 3HER 5-8-11 340H
7 B 11 170M 8-11 260M 5= 5-11 390H JEH 11-5-8 4,670M
5 100M 5-8 140/ B H 11-5 2,690M
8 130M

ABICOVWTRDTEEERROODE. TR LIV,




